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3to] gl AL olyrt. o= &9, ITO(Indium Tin Oxide), ZZ#§®, TCO (transparent conductive oxide),

conductive polymers, metal grid, carbon nanotubes, nanowire meshes, ultras thin metal films & €

oo o2 AAde wE 7pH 2" dl=(1)9 Al A2F(210), A2 A=2F(230) 2 A3 AE2F(220)
2 0ol o A4 g, 47 72 AS53530009 BSel AT Al 99(110), A2 F9(120) 2 A3
A (130) e wixlE. &, 712 AFF (3000 Al A=ZF(210), A2 A=ZF(230) 2 A3 A=F(220)3 F13
7]1%(100) Afolell wijx]H )

o] wj, Al W=EZ(210), A2 A=Z=Z(230) L A3 AW=Z(220)3 712 A=Z(300) Aol zHzt |
(213), A2 AAF(233) E A3 FAZ(223)¢] HAFHET. Al AAF(213), A2 AAF(233) < l 34
(223)2 A1 A=F(210), A2 A=F(230) 2 A3 A=F(220)°] 247 712 AFF(300)% 24 54

= g},

o] w, AYF-(400)+= = 9o TAlE mie}l o], AJR(400)E A1 A=ZF(210), A2 A=ZF(230), A3 A=F
(220) 2 71% HAFF(300)o] AL A7Fetth. ALF(400)7F A1 A=3F(210), A2 A=ZF(230), A3 A=F
(220) 2 712 AFZF(300) ALS 7psts WA= Aol glom, A9S FH37] Y3 FA " v
WHol HgE 4 Q).

ALE(400)= A1 A=Z(210), A2 A=Z(230), A3 A=Z(220) D 712 AFZ(300)0] AYgS 271sl7] 9
sted, Al A=F(210), A2 W=ZF(230), A3 A=F(220) 2 7% AF3(300)> 2H2F ALF(400)2] A1 &
2ZH(410), A2 ©=}(420), A3 ©EAH(430) Z A5 @AF(450) ] FH sHssiA A,

o] W, AYAF-(400)= 7% AFF(300)S 7|Fo 2 o] Hets 73k
otel A7) Al A=F(210)3 71 Z2 AF3F(300)2] A9jafelar, #|2 A=
2 W=F(230)F 7% AFF(300)] HHxfolar, A3 W=F(220) A7
I 7% AF55(30009] AAtelth. o] wi, A1 W=EZF(210)°] QA7FEE %
2(230)0] A7tEE AS A2 AMetolgra shar, A3 WEZ(220)9] 17

o9} o], 71% A domH, 7P 23 A=) #H95 AVlE w8A FouME By #
% xux} B 63*3‘ T QA "ok ALE(400)7F AvsHE A 371 of wet, SHEo] vt = AW
ot = ZHEEY] W87 §olAA €.

EE, 7% AFE(300)S Al A=Z(210), A2 A=ZF(230) D A3 A=Z(220)3 A7t BLEt] HYS H
A e AY Aojstr] gojst Byt olye}l, DBRENE ¥Y + UA Frt.

ool A & Ewel o Aol wE ThA 3 dl=e] disto] dWsiglon, & Aalde] wE ZpH 2A

o &, Al A=F(210)9) ArEE A

(230)° 17tE = At A7]= Al
= s a7E A3 W=F(220)
WS A1 Asteletal skar, A2 W=

ke A3 dstoletar .
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